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3anonnsemcs uienamu HCIOPU. Tlomemxku YH4acnmHuKoe He c)onyCKaiomc;l./
To be filled in by the Jury. Please do not make any notes here!

3aganue | 3amanue | 3amanue | 3amanue | 3agaHue | 3agaHue Hroro
1/Task 2/Task 3/Task 4/Task 5/Task 6/Task 0asuioB/
HH@P 7 CODE 1 2 3 4 5 6 Total points
Max 15 Max 15 Max 20 Max 15 Max 20 Max 15 Max 100

COIMAJIBHBIE HAYKHA: YEJIOBEK. OBIIECTBO. I'OCYJAPCTBO /
SOCIAL SCIENCES: PERSON. SOCIETY. STATE

11 kaace / 111" Grade
BapuanT 3/ Variant 3

Bpewms Beinosnaenus 3aganuii — 120 munyt / to be completed within 120 minutes
Makcumanbhas onenka — 100 6amtos / the maximum score is 100 points

Bananue 1. (Maxcumanonas oyenxa - 15 6annos) [ Task 1. (0-15 points)

«B kakoMm Hapoje JKMBellb, TAKOro oObryast u aepkuibes». / "The customs you keep depend on the
nation you live in."

HponHTepnpeTnpyﬁTe 3TO BbICKAa3bIBaHUE C COHHOJIOFH‘ICCKOﬁ TOYKH 3PECHUSA. Hoquy YeCJI0BECK
npuaep:xuBaercst oobruasi? / Interpret this statement from a sociological perspective. What makes
a person conform to customs?
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Bananme 2. (Maxcumanvnas oyenka - 15 6annos) | Task 2. (0-15 points)

busnecmen A n3 crpansl N OTKpBUI B CTOJIMLIE CBOETO rocyAapcTBa OpUIMHaIbHBIM TeaTp. Ilpsimo B
LHEHTPEC TopoJa €ro XKUTCIIIM IIpeajarajloChb IOCMOTPETH IIBEChI, HAIIMCAHHBLIC II0 JIMTEPATYPHBIM
MPOU3BEACHUSAM, KOTOPBIC W3BECTHBI NPEHMYIIECTBEHHO B 3TOM pPETHOHE. YCHeX 3aBeleHHs ObLI
OI.HGJ'IOMJ'I}IIOH_[I/IM! Tonmer KEJIaoIKWX BbICTPAaUBAJIUCh B OYCPCb. YBI/II[eB 9TO, ousznecmen B us
cTpanbl M pemnia OTKphITh TOYHO TAaKOH K€ TeaTp C TOUHO TAKUM XKE PENepTyapoM B CTOJIULIE CBOETO
rocyaapcrna. BCKOpe B ICHTPC U 3TOro ropoaa pacClrnaxHylInuCb ABEPH 3aBCICHH. O,I[HaKO HHUKaKOIro
ycrniexa He Obuto! JKurtenu cronuibl ctpaHbl M HE XOTENM CMOTPETh IbEChl B OTKPBIBIIEMCS Tearpe. /
Businessman A from Country N opened a unique theatre in the capital of his country. The theatre was
situated in the heart of the city and showcased plays based on literary works that were primarily known
in the region. The success was staggering, with crowds of people lining up. Observing this, Businessman
B from Country M decided to open an identical theatre with the same programme in the capital of his
country. Soon, the new business opened its doors in the city centre. However, it failed to achieve
success: the residents of the capital of Country M had no interest in watching plays at the new theatre.

Iouemy o6usnecmeny B He ynajaoch noOBTOPUTH ycnex oOuznecmena A? Uto HeoOGXoamMo ObLIO
YUYHUTHIBATh, OTKpbIBasgs Teatp B cTpaHe M (mo cpaBHeHuo co crpanoii N)? Kakue
COI[MOJIOTHYECKHUE TOHATHS MO3BOJISIIOT 00bSCHUTD KeJIaHNe WM HexKeJaHue KUTeeill CMOTpeTh
nbechl B Takux Tearpax? / Why was Businessman B unable to replicate Businessman A's success?
What factors should have been considered while opening a theatre in Country M (compared to
Country N)? What sociological concepts can explain the residents’ desire or unwillingness to visit
such theatres?
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B3ananme 3. (Maxcumanvnas oyenka - 20 6annos) | Task 3. (0—20 points)

[IpencraBbTe ClEAYIONIYI0 CUTyanuio. UeloBeK HaYMHAET XOIUTh HAa CTATUOH, YTOOBI CMOTPETh
(GyTOOIBHBIE MaT4YH JOOMMOTO KiyOa ¢ TpuOyHbl. CHayajla OH cTapaeTcs BeCTH cebOsl Tak ke, Kak
caMblii TPOMKHMU (paHaT, KOTOPBIM HaxomuTcs B LEeHTpe BHUMaHHA. OJHAKO 3aT€M 3TOT YEJIOBEK
HAYMHACT BECTH ce0s Tak JKe, KaK 3TO JeNIaeT APYyroil ¢aHar, MHOTO JICT MMOCEMIAIOINUN CTaauoH. /
Imagine the following situation. A person starts attending football matches at the stadium to cheer for
their favourite club. At first, they attempt to imitate the behaviour of the loudest fan who stands out in
the crowd. However, over time, this person starts behaving like another long-time fan instead.

Kakne COIIMOJOTNYIECCKHUEC TMOHATHUS IO3BOJIAIOT OIIKCATHL POJb CHa4vYa/la I'poOMKOro (l)aHaTa, a
nmoToM (paHaTa, MHOIO JIET MOCEHIAIONIEr0 CTAJAWOH, B (PAHATCKOM KU3HHU ITOr0 4YejloBeKa?
Hoquy MmMoB€ACHUE I'POMKOIO (baHaTa B KaKOH-TO MOMEHT HAYHHAET TEPATH CBOI0 BA’KHOCTDL, A
noBeaeHue (paHATA, MHOIO JI€T MOCEIIAIOIIEero CTaAHOH, HANPOTHB, ee mpuodperars? / What
sociological concepts can describe the role of the loud fan and that of the seasoned fan who had
been attending matches for years in the fan life of this person? Why does the behaviour of the
loud fan eventually lose significance, while the behaviour of the long-time fan gains more
importance?
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3anpanme 4. (Maxcumanvnas oyenka - 15 6annos) | Task 4. (0-15 points)

B cBoeit kaure «Onunokue uaen» Jlopen I'paxam, BUIHBIN aMEpUKAHCKUM HCCIIE10BATENb COBETCKON U
pOCCHfICKOfI HAayKH, IMHOIET, YTO €CJIM B rocyaapCrB€ OTCYTCTBYIOT HCO6XO,I[I/IMI>I€ MEXaHU3Mbl IJIsA
KOMMCpUOHUAIU3aAlU U TUPAKHUPOBAHUA HHHOBaHHfI, TO OHO HEM30EXKHO OTCTAHET OT APyrux CTpaH B
TEXHOJOTMYECKON TI'OHKE. OI[HI/IM N3 Takux INpUMCPOB OH HA3bIBACT, B YAaCTHOCTH, POCCHﬁCKym
UMIIEpHIO, TIPUBOJA B KayecTBE OOpaTHOro mpumepa BenukoOpuraHuio, rie aBTOpCKOE MpaBo ObUIO
3aKOHOAATCIIbHO 3aKpPCIUICHO CIIC B 1710 roay, 4TO MO3BOJUJIO CTpaHC CTATb JIOKOMOTHUBOM
MPOMBIIUICHHOH PeBOMIIOIMKM U MUpoBOH sxkoHomuku. / In his book Lonely Ideas, Loren Graham, a
notable American researcher of Soviet and Russian science, states that if a country lacks the necessary
mechanisms for commercializing and replicating innovations, it will inevitably lag behind other nations
in the technological race. One example he mentions is the Russian Empire, contrasting it with Great
Britain where copyright laws were established as early as 1710, allowing the country to become a
driving force in the industrial revolution and global economy.

3ananue. OTBeThTE Ha ciaenymonme Bonpockl: / Task. Answer the following questions:

1. Hz6ecmuul iu Bam cryuau, koeoa uzoopemenue 0bl10 NPOPLIBHLIM OJisl CB0E20 BPEMEHU, HO He BbIULILO
«8 Mupadicy U NONYHYULO C80€ PACHPOCMPAHEeHUue MOJbKO CHYChis HeCKONIbKO Jlem 6 Opyeou cmpane?
Ipuseoume ne menee 1 npumepa. | 1. Can you think of any examples where an invention was
groundbreaking but only gained recognition and distribution in another country several years later?
Provide at least one example.

2. Kax Bwi cuumaeme, ¢ nomowwio KaKux UHCMPYMEHMOS 20CYOApPCME0 MONCem No00epHCUBANTb
unnosamopos? Ilpuseoume ne menee 3 npumepos. | 2. What tools do you think a state can use to
support innovators? Provide at least three examples.

3. Ecnu 2ocyoapcmeo mavunaem omcmasams om Opyeux 8 CO30aHUU HOBbIX MEXHOLO2UL, MO KAKOU
Modcem bblmb €20 albmepHamusHas cmpameausi pazsumust 6 cghepe unnosayuti? | 3. 1f a state starts to
lag behind others in terms of new technology creation, what alternative development strategy do you
think it can pursue in the field of innovation?
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Bananue 5. (Makxcumanvnas oyenxa - 20 6annos) | Task 5. (0-20 points)

B MHUPE CYHICCTBYCT AOCTATOYHO MHOI'O CTpPAH, OCHOBHOH 00BLEM OKCIIOpTa KOTOPBIX IPHUXOIUTCS Ha
NPUPOJHBIE pecypchl (Hampumep, HedTh uian ra3). B TakoM ciydae SKOHOMHUCTBI TOBOPAT O HAJTHMYUH
«PECYPCHOI'0 IPOKILATUA», KOTOPOC HETAaTUBHO CKAa3bIBACTCA HA TEMIIAX 3KOHOMHYECKOI'O PpoOCTa
ctpanbl. Hanpumep, B 1995 roay skonomuct J[xeppu Cakc mokazan, 4To TEMIbI pOCTa SKOHOMHK C
BBICOKOH Joyielt skcnopra celppst B BBII 3a aBaauarunetanit nepuox ¢ 1970 mo 1990 rox okaszamuce
HIDKE CpeIHero oomeMupoBoro nokasarens. / There are numerous countries in the world whose primary
exports are natural resources such as oil or gas. Economists refer to this situation as the "resource
curse”, which has a negative impact on the country's economic growth. For instance, economist Jeffrey
Sachs demonstrated in 1995 that economies highly dependent on raw material exports had growth rates
below the global average from 1970 to 1990.

3ananue. OTBeThTE Ha caenymonme Bonpock: / Task. Answer the following questions:

1. Kax Bwi cuumaeme, 6 C6A3U C uem IKcnopm I’lpupO()Hblx PECYPCO6 HecamuBHO CKA3bleademcs Ha
memnax sxoHomuqecko2o pocma? Obocuytime ceoro nosuyuio. | 1. In your opinion, why does exporting
natural resources have a detrimental effect on economic growth? Explain your viewpoint.

2. [Ipusedume peanvHbvle npumepsbl Mo2o, KaK IKCHOPH NPUPOOHBIX PECYPCO8 He2amUBHO CKA3bI8ALCA HA
pazeumuu mex uiu uHvlx cmpau. Ilpuseoume ne menee 08yx paszseprymovix npumepos. | 2. Provide
specific examples of how the export of natural resources has hindered the development of certain
countries. Give at least two detailed examples.

3. Kax Bvl cuumaeme, kaxkum 00pazom MOJNCHO CHU3UMb UIU NOOOPOMb He2amusHbulll 3pgexm
«pecypcroco npokasimusy? [lpednoscume ne menee 08yx pekomenoayuil u obocuyume ux. | 3. How do
you propose reducing or overcoming the negative effects of the "resource curse™? Offer at least two
recommendations and justify them.
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Bananue 6. (Maxcumanvnas oyenxa - 15 6annos) [ Task 6. (015 points)

B HACcToAICEC BpCMA CYHICCTBYCT IBa HauOoJee PaCIpOCTPAHCHHBIX OIPECACIICHUA TOCyldapCTBa.
CornacHo mepBOMY, TOCYJIAapCTBO OMNPEACISIETCA KaK «OpraHu3alus, KOTopas HaxXOJHUTCS BHYTPHU
O6H.ICCTBa 1 BJIaACCT MOHONIOJIMEN Ha JETUTUMHOE (I)I/IBI/I‘{CCKOG Hacuiue». B paMKax BTOpPOTro
OTpe/IeTICHUs] TOCYIapCTBO PAacCMATPUBAETCS KaK «CHCTeMa OOIIECTBEHHBIX WHCTUTYTOB, KOTOpPBIC
KOOPIMHUPYIOT AericTBus nHauBunoB». /| There are currently two most commonly used definitions of
the state. The first definition characterizes the state as "an organization within society that possesses a
monopoly on legitimate physical violence". The second definition views the state as "a system of public
institutions that coordinate the actions of individuals".
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3ananne. OTBeTHTE Ha ciaeayommue Bonpockl: / Task. Answer the following questions:

1. Kax Bul cuumaeme, uem pasziuuaiomes smu 08a onpedenenus? Jaime passeprymoiti omeem. | 1. In
your opinion, what is the difference between these two definitions? Provide a detailed answer.

2. Kax no-Bawemy, umo obweco medxncoy smumu 08yms onpedenenusmu? Jatime pazeepHymolii omeem.
/ 2. In your opinion, what do these two definitions have in common? Provide a detailed answer.

3. Kax Bvl cuumaeme, xakoe u3 onpeoeieHull sgisemcs Haubonee xoppexmuvim? Ilpugedume ceou
apeymenmol 8 nob3y 00HO20 unu opyeozo onpeoerenus. | 3. Which definition is most appropriate in
your opinion? Provide arguments in favour of the first or second definition.
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